Assignment 5
Due date: 29 May 2024

TA: } 4 & E814

1. (20%)If b € R, then show that { (1, z2, 23, 74) € R* | 13 = 514 + b} is a subspace of R* if
and only if b = 0.

2. (20%) Show that V = {(z,y, 2) € R® | £ +y + 2z = 0} is a subspace of R>,

3. (20%) Let T4 : R? — R? be multiplication by matrix A. Determine whether the vector

0 2
u=(1,1,1)isin the span of {T'4(e1),Ta(e2)},where A= | 1 —2
1 0

4. (20%) Determine whether the following vectors are linearly independent or linearly dependent in F».
p1=2—x+42%, pe=3+46x+22% p3=2+ 10z — 422

5. (20%) Use the Wronskian to show that f; = 1,f; = %, f3 = %" are linearly independent vectors

in C°°(—o00, 00).



